GEFRAN TK

EFEHR

o [EHEFE: M0—3F]0—500bar
EHER: M-1—+1F]-1-—10bar
o MHIES: 4.20mA 24:4/0,1..51Vdc/
0,1...10,1Vdc / 0...5Vdc / 0...10Vdc / 1...5Vdc / 1...10Vdc
o IRIPZELL. 1P65/IP6T
o IEfMMRL: AISI 430F #0 17-4PH
s IAFTEMIZERE, nESESR

TKEXREZATEERK, 2ESRERTIE, ATE
BRATAELERESENNERER RS, TKENERSE
FEATH. SRSURERK. RN RBAERARSGT

(:e: R i

RARSH
WHiES & iR
R ELR (1) H + 0.25% FSO #7/4 ( + 0.3% FSO &X)
(IR FIR D M + 0.5% FSO #R#E (+0.6% FSO & k)
NESeE M 0...3 bar 2 0...500 bar
M -1...+1 bar &l -1...+10 bar
RAXAAEHL (EFB (2 e
JRZEME e
R KA 13mA 32mA
50Vdc B4 2R i > 1000MQ
RALFLE 1mA nEF
Nia 57 B 8] (10...90%FSO) < 1msec
AR FL R i HBMPR 10...30Vdc 10...30Vdc
it CNQ 15...30Vdc
#yH 2 & (RMS 10-400 Hz) 0,05% FS
i AE BRANIRIP AN B 5] BB R AR P YES
58 L Bk e 5 P AR AP YES NO
MBIRESEE -10...+70°C (+14...+158°F)
MINEEBREE -40...+105°C (-40...+221°F)
EFEREEE -40...+125°C (-40...+257°F)
*METERE A EFS (zero — sens.) < 0,2%FSO / 10°K B1EY
SRR Inox 1.4540 1.4016
MR R AIS| 304 T454W/ B % 66F35V0
RIPELR IP65 / IP67
CEIAIE T FN5:9%89/336/EWG (T EN61326)
M IEC 68-2-6 100g/1ms
iR IEC 68-2-6 20g HxA7E 15-2000Hz
o ~110g
FSO = #EMmL (FEENALES) 2 £ F10001 7AiM, B iRt iEl< 2msec
1BFSL (REME) HELHZ* 3 ZF1004TH2M, ERIFLERTE < 2msec
EHER 3/4|5|6 |7 ]10]16|20|25|30| 50 | 60 |100|160|200| 250 | 350 | 400 | 500
BARAAEN
(Z=iB) 6|8 |10|12 14|20 | 32|40 |50 | 60 | 100 | 120|200 320|400 | 500 | 700 | 800 | 1000
R 12|16 | 20 | 24 | 28 | 40 | 64 | 80 | 100|120 | 200 | 240|400 | 640 | 800 | 1000 | 1200| 1200 1200




MU R ~F

84
[3.307]
Ch 22
J )
N ‘>
ﬂ o > 9
Qf .
) &) =
12 2 12
[0.472] [0.079] [0.472]
L=70
[2.756]
TZER
(1) G 1/4 FH&L (DIN 3852-A) (2) SAE04 AS4395-E
ol ii é lQ"’_" ’()\J__
S =1 3R g5
Sl ) = 8l— L
[
B
Ch 22 Ch 22/ 8
L N ®
2 155 |
[0,20791 [0‘14272] [0-079] osii] ™
(3) G 1/2 A (DIN 16288) (4) G 1/4 PR
15
o501 [&;21
<
s # -
Ch 22 )
L 20 5
“To.787] " [0.197] Lt7mm 2
[0.079]
BSEE
P - 7THR¥Ek V - 64R¥EL F - 44R B4
— 23 A %
=) i
3 o =
< M~ o'
S, e i o
—_— — Sl DN
/—\/\ [
/—\-/\ [
Z - MR3ES E - MR¥ELIBLLE M - 4R 3 LI T
M12 x 1
= =) Mg ht i
0|2 Xp] o ~ o[~
S [} i ° e




SR
P - 7HRiE V- 61k

FAS$E S 09-127-09-07 BA4S$EL VPTO2A10-6PT2 R B 452X0,25 - 2m. (i E)
IP6 7RI L LR IP66IRIPELR IPESRIFZLR
Z - AR PRLIE E - 4fRiB 2% EiE
M12 x 1 M - AR £k B 4 sk
3
; =
0, O
> A O |
34
[©)
#2842 % 400 DIN 46350A - 1SO4400 R4S 4x0,25 - 2m
s IPESIRIPE LR IP65ERIPZH LR
I“Jﬁﬁgg?ggﬁ*"* 442 4 & 400 DIN 463508 - 1SO4400
P13 IP65R M ZE LR
HSEE-EZEE
F & 4 AU K 25— 81 S B/C/M/IN/P/Q/R
v p F E/M z
r;*%\lr%i_1 i c 1 ae 3 3
‘/:’ BIRRE -
— o d D 2 FeE 2 2
A
+ A 3 ae 1 1
s < = MREEECEE 2
L| s s | R D shas
B A-E S
v P E E/M z
| emE T A 3 ae 1 1
W 5 ol & 4 (|HesEZE | 2
kTR _
L| o | s R &) n
( )
n
800
750— — — — — — — — —

B3 A B X3

.
ooooo
oooooo

oooooo
oooooo
oooooo
ooooo

fE e RL
N
o
o

0 5 10 15 20 25 30 Vdc
BiREE



LiNGS

&k Wi
Eiis 3R IE K+E HDINA3650B 1S04400 CON 008
= IP651RIF LR
FE 3L 3R+HEHDINA3650A 1SO4400 CON 006 PiESE
ol ] - .
IPESER 174K RS HES  RIPZRIPET CON 321
et ViE
ARIEk CON 293 S .y
. L BT IE Sk =N 1P66 CON 300
P65 PR SiIEL RIPER
HEAK B4
. B E R
OB Hs8m (25Ft) RS CO8WLS i a5
BRIE K 15m (50Ft) FRf C15WLS A 0
BRI4E L E30m (100ft) FB4s C30WLS B EE/ 26
Heolpy E E =Y C EI@
HEKE BEREKAR 5 v
E =)
F B
TTEKES
E ATk w0000
‘ WHES —— AU/ S 1 SR AR R AR S 9
TRl BREREM.
0,1..10,1Vdec| C
4..20mA| E e 57 B 18]
0..10vdc, N VR (K1ms)
AR P EK FEESER
0,1...5,1Vdc B H 0.25% FSO
0..5Vdc M M 0,5% FSO
1..5vde] P
1..10vde Q EREE ‘
1..6Vvde R bar ps!
NO1U |-1..+1 * V15U |-15..+15
TEZ&EE NO2U |-1..+2 * V03D |-15..+30
FRifE NO3U |-1..+3 * V05D | -15..450
G 1/4 gasFH%ZL (DIN 3852-A) 1 NO5U | -1..45 V75U |-15..+75
SAE 04 AS4395-E 2 NO1D | -1..+10 VO1C |-15..+100
G 1/2A (DIN 16288) 3 BO3U 0.3 PO5D| 0..50
MIREAER BO4U 6 0.4 P75U| 0.75
G 1/4 gas FAZL (DIN 3852-E)| E BO5U| 0.5 P0O1C | 0..100
G 1/4 gas FBLX 4 BO6U | 0.6 P15D| 0..150
1/8-27 NPT [AX 5 BO7U| 0.7 P25D | 0..250
1/4 - 18 NPT FB& 6 BO1D | 0.10 P0O3C | 0..300
1/4 - 18 NPT PH&X 7 B16U | 0..16 PO5C | 0..500
M14x 1,5 FH%L| 8 B02D| 0..20 P75D| 0..750
1/8-27NPTFAZL| 9 B25U] 0..25 PO1M | 0..1000
M12x150%| R BO3D | 0.30 P15C | 0..1500
T B04D | 0..40 P25C | 0..2500
o . BOSD| 0.50 PO3M | 0..3000
i S BO6D| 0..60 PO5M | 0..5000
AR IR E BO1C| 0..100 P75C | 0..7500
MR | F B16D| 0..160
AREESIMI2Xx 1| Z B02C| 0..200
AlRE AER B25D| 0..250
MRBEIHIBREE | M B35D| 0..350 * ABME
THRIESL | P B04C| 0..400
6tRiEk vV B0O5C | 0..500
68 (zip)529000

+ 86 750 3289680 3289698

http //www.leadersensors.com

+ 86 750 3289699

E-mail leader@leadersensors.com

4




